5.1 Graphing Quadratics — Vertex Form and Standard Form Name \/\@ (A hr

Vertex Form: Write the vertex of each equation. State if the graph opens up or down. State if the graph is narrower
than, wider than, or the same as the parent graph y = x2.
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Vertex and Standard Form: Graph the quadratic. State the vertex, axis of symmetry, y-intercept, domain and range.
Make a table of values if needed.
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Algebra 2
Factoring Worksheet

Factor the trinomial.
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Factor the expression.
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Solve the equation.
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Write the equation in factored form and state the x-intercepts.
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